Some Results on Special Kind of Algebra

Sajda Kadhum Mohammed^{*} Azal Taha Abdul Wahab Faculty of Education for Girls Kufa University,Iraq *E-mail of the corresponding author Sajidak.mohammed@uokufa.edu.iq

Abstracts

In this paper we define a new class of algebra we call it a non associative seminear ring with BCK algebra and define a non associative sub seminear ring with BCK algebra , then we study and prove some properties of them .

1) Introduction

The notation of BCK-algebra was introduced first in 1966 by Y.Iami and K-Iseki [1], in in the same year, K-Iseki [2] introduced the notion of BCI- algebra which is a generalization of a BCK-algebra. In 1967 V. G. Van Hoorn and B. Van Root Selaar[9] introduced the concept of seminear-rings and discussed general theory of seminear-rings. We introduce a new class of algebra called a special kind of non associative seminear-ring with BCK algebra where we define as follows : Let $(X, \bullet, *)$ be a non-empty set with two binary operations '*' and '•' satisfying the following conditions :

a.) (X, \bullet) is a semigroup.

b.) (X, *, 0) is a BCK algebra.

c.) $(a \bullet b) * e = (a * e) \bullet (b * e)$ for all $a, b, e \in X$

e.) $0 \bullet x = x \bullet 0 = x$ for all $x \in X$

then we say that X is a special kind of non associative seminear-ring with BCK algebra (SNAK seminear-ring), then we define a special kind of non associative sub seminear-ring with BCK algebra we denoted by SNASK seminear-ring, then we study and prove some properties of them .

keywords : semigroup, BCK -algebra, seminear-ring , non associative seminear -ring

2) preliminary

In this section we view some concepts we needed in this paper .

Definition2.1 [5],[6],[7]

Let S be a non-empty set. S is said to be a **semigroup** if on S is defined a binary operation '•' such that for all a, $b \in S$, $a \bullet b \in S$ and $(a \bullet b) \bullet c = a \bullet (b \bullet c)$ for all a, b, $c \in S$.

Definition 2.2[4]

The **direct product** $S \times T$ of two semigroups S and T is defined by

 $(x_1, y_1) \bullet (x_2, y_2) = (x_1 \bullet x_2, y_1 \bullet y_2) \text{ where } x_1, x_2 \in S, y_1, y_2 \in T).$

It is easy to show that the direct product is a semigroup

Definition (2.3) [4]

A semigroup S with finite number of elements is called a **finite semigroup** and its order is finite and it is denoted by o(S) = |S|. If |S| is infinite we say S is a semigroup of **infinite order**.

Definition 2.4 [5],[4]

Let (S, \bullet) be a semigroup. P a non-empty proper subset of S is said to be a **subsemigroup** if (P, .) is a semigroup

Definition 2.5 [3]

Let X be a semigroup and x an element of X. An element e of X is a **left identity** of x if $e \bullet x = x$, a **right identity** of x if $x \bullet e = x$, an **identity** of x if $x \bullet e = e \bullet x = x$

Definition 2.6 [5], [4]

A semigroup which has an identity element $e \in S$ is called **a monoid**, if e is such that $x \bullet e = e \bullet x = x$ for all $x \in S$.

Definition 2.7 [9]

A non empty set R with two binary operations + (addition) and \bullet (multiplication) is called a **seminear-ring**, if it satisfies the following axioms:

(1) (R, +) and (R, \bullet) are semigroups,

(2) $(x + y) \bullet z = x \bullet z + y \bullet z$ for all $x, y, z \in R$.

Precisely speaking, it is a right seminear-ring because it satisfies the right distributive law.

Definition 2.8 [5]

Let $(N, +, \bullet)$ be a non-empty set with two binary operation '+' and ' \bullet ' satisfying the following conditions :

a. (N, +) is a semigroup.

b. (N, \bullet) is a groupoid.

c. $(a + b) \bullet e = a \bullet e + b \bullet e$ for all a, b, $c \in N$; $(N, +, \bullet)$ is called the **right seminear-ring which is non-associative.**

If we replace (c) by $a \bullet (b + e) = a \bullet b + a \bullet e$ for all a, b, $e \in N$ Then $(N, +, \bullet)$ is a non-associative left seminear-ring. In this text we denote by $(X, +, \bullet)$ a non-associative right seminear-ring and by default of notation call X just a non-associative seminear-ring

Definition 2.9 [5]

Let $(N, +, \bullet)$ be a seminear-ring which is not associative . A subset P of N is said to be a **subseminear-ring** if $(P, +, \bullet)$ is a seminear-ring.

Definition 2.10 [5]

Let $(N, +, \bullet)$ be a non-associative seminear-ring; we say N is a **P-seminear-ring** if

 $(x \bullet y) \bullet x = x \bullet (y \bullet x)$ for all $x, y \in N$.

Definition 2.11 [5]

we call a non-associative seminear-ring N to be a Bol seminear-ring if

 $((x \bullet y) \bullet z) \bullet y = (x \bullet (y \bullet z) \bullet y)$ for all x, y, $z \in N$.

Definition (2.12) [11],[12]

An algebraic system (X, *, 0) is called a **BCK algebra** if it satisfies the

following conditions:

1) ((x * y) * (x * z)) * (z * y) = 0,

2) (x * (x * y)) * y = 0,

3) x * x = 0,

4) 0 * x = 0

5) if x * y = 0 and y * x = 0 then x = y, $\forall x, y, z \in X$.

Remarks (2.13) [8]

Let X be a BCK algebra then :

A partial ordering " \leq " on X can be defined by x \leq y if and only if

x * y = 0.

A BCK-algebra X has the following properties:

1) x * 0 = x.

2) if x*y=0 and y*z=0 imply x*z=0.

3) if $x^{y}=0$ implies $(x^{z})^{y}(y^{z})=0$ and $(z^{y})^{y}(z^{z})=0$.

4) $(x^*y)^*z=(x^*z)^*y$.

5) (x*y)*x=0.

6) $x^{*}(x^{*}(x^{*}y))=x^{*}y$.

7) if (x*y)*z=0 implies (x*z)*y=0.

8) $[(x^*z)^*(y^*z)]^*(x^*y)=0.$

9) [$((x^*z)^*z)^*(y^*z)$]*[$(x^*y)^*z$] = 0. for all x, y, z $\in X$

3) Main Results :

In this section we define a new class of algebra, we call it a special kind of non associative seminear-ring with BCK algebra then we study and prove some of properties.

Definition 3.1

Let X be a non-empty set with two binary operations '*' and '•' satisfying the following conditions :

a.) (X, \bullet) is a semigroup.

b.) (X, *, 0) is a BCK algebra.

c.) $(x \bullet y) * z = (x * z) \bullet (y * z)$ for all $x, y, z \in X$ which is called the distributive law

e.) $0 \bullet x = x \bullet 0 = x$ for all $x \in X$

Then ; $(X, \bullet, *, 0)$ is called Special Kind Of Non Associative Seminear-Ring With BCK Algebra, we denoted by SNAK seminear-ring

Example: 3.3

Let $X = \{0, 1, 2, 3\}$ with two binary operation • and * are defined by the following tables :

•	0	1	2	3	*	0	1	2	3
0	0	1	2	3	0	0	0	0	0
1	1	1	2	3	1	1	0	0	0
2	2	2	2	2	2	2	2	0	0
3	3	3	2	2	3	3	3	0	0

Then by usual calculation we can prove that (X, •, *,0) is a SNAK seminear-ring

Example:3.2

Let $X = \{0, 1, 2, 3\}$ with two binary operation • and * are defined by the following tables :

•	0	1	2	3	*	0	1	2	3
0	0	1	2	3	0	0	0	0	0
1	1	1	2	3	1	1	0	0	3
2	2	2	3	1	2	2	2	0	2
3	3	3	1	2	3	3	0	0	0

Then (X, •, *,0) is not SNAK seminear-ring since 1, 2, $3 \in X$ but $(1 \cdot 2) * 3 = 2 * 3 = 2 \neq (1 * 3) \cdot (2 * 3) = 3 \cdot 2 = 1$

Remark 3.3

Let X be a SNAK seminear-ring then $x^n \le x \quad \forall \ x \in X$

Proof

Let X be a SNAK seminear-ring since x * x = 0 so $x \le x$ $x^2 * x = x * x \bullet x * x$ [by c of definition 3.1] $= 0 \bullet 0 = 0$ [by e definition 3.1]

so $x^2 \le x$. By mathematical induction we have $x^n \le x \forall x \in X, n \in N$

Proposition 3.4

Let X be a SNAK seminear-ring and $x \bullet y = 0$ for some x , $y \in X$ then $x \ast y = 0$ and $y \ast x = 0$, the converse is not true

Proof

Let X be a SNAK seminear-ring and $\mathbf{x} \bullet \mathbf{y} = 0 \implies (\mathbf{x} \bullet \mathbf{y}) * \mathbf{x} = 0 * \mathbf{x}$

 $\Rightarrow x * x \bullet y * x = 0 \bullet (y * x) = (y * x) \Rightarrow y * x = 0$ by similar way we have x * y = 0, we will show that the converse is not true by the following example:

Let $X = \{0, 1, 2, 3\}$ with two binary operation • and * are defined by the following tables :

٠	0	1	2	3	*	0	1	2	3
0	0	1	2	3	0	0	0	0	0
1	1	1	1	1	1	1	0	3	0
2	2	1	2	3	2	2	0	0	0
3	3	3	3	3	3	3	0	3	0

Then, since $1,3 \in X$ and 1 * 3 = 0 and 3 * 1 = 0 but $1 \bullet 3 = 1 \neq 0$

proposition (3.5)

let X be SNAK seminear-ring then

```
1) \qquad 0 \bullet 0 = 0
```

2)	$((a \bullet b) \bullet c)*b = (a \bullet c)*b$	for all a,b,c $\in X$
3)	$((a \bullet b) \bullet c)^*a = (b \bullet c)^*a$	for all a,b,c $\in X$

4)
$$((a \bullet b) \bullet c)^* c = (a \bullet b)^* c$$
 for all $a, b, c \in X$

proof

let X is a SNAK seminear-ring

1) since $0 \in X$ and $0 \bullet x = x \bullet 0 = x$ $\forall x \in X$ so $0 \bullet 0 = 0$

2) let $a, b, c \in X$ then

$((a \bullet b) \bullet c) * b = (a \bullet (b \bullet c) * b$	[since (x, \bullet) is semigroup]				
$= a * b \bullet ((b \bullet c) * b$					
$= (a * b) \bullet [(b * b) \bullet (c * b)]$	[by c of definition 3.1]				
$= a * b \bullet [0 \bullet (c * b)]$	[by e of definition 3.1]				
$= a * b \bullet c * b = (a \bullet c) * b$					

4)In a similar way we can prove 3,4.

Proposition 3.6

Let X be a SNAK seminear-ring then X is not P-seminear-ring

Proof

Let X be a SNAK seminear-ring and suppose that X is a P-seminear-ring

$$\Rightarrow (x * y) * x = x * (y * x) \quad \forall x, y \in X$$

$$\Rightarrow x * (y * x) = (x * x) * y \qquad [by 4 of Remarks 2.13]$$

$$= 0 * y = 0 \quad \forall x, y \in X \qquad [by 1 of Remarks 2.13]$$

since it is true $\forall x, y \in X$ so if $y = x \Rightarrow x * 0 = 0$

 \Rightarrow x = 0 contradiction \Rightarrow X is not P-seminear-ring

Proposition 3.7

Let X be a SNAK seminear-ring then X is not Bol seminear-ring

Proof

Let X be a SNAK seminear-ring and suppose that X is Bol seminear-ring

$$\Rightarrow ((x*y)*z)*y = x*((y*z)*y) \quad \forall x, y, z \in X$$

$$\Rightarrow ((x*y)*y)*z = (x*(0*z))$$

$$= x*0 = x$$
[X is SNAK seminear-ring]

Since it is true $\forall x, y \in X$ so it is true if $x = y \Rightarrow (0 * y) * z = x \Rightarrow x = 0$ contradiction

 \Rightarrow X is not Bol seminear-ring

Proposition 3.8:

Let S , T be a SNAK seminear-ring then $S \times T = \{(s, t) : s \in S, t \in T\}$ is a SNAK seminear-ring and , where the binary operations '•' and '*' defined by the following :

 $(a_1, b_1) \bullet (a_2, b_2) = (a_1 \bullet a_2, b_1 \bullet b_2)$ $(a_1, b_1) * (a_2, b_2) = (a_1 * a_2, b_1 * b_2)$ for all (a_1,b_1) , $(a_2,b_2) \in S \times T$

Proof

Let S and T a SNAK seminear-ring so [by 2.1.1] S and T are semigroup then $S \times T$ are semigroup [by Definition 2.2] since S and T are BCK algebra then $S \times T$ it is easy to prove $S \times T$ a BCK where

$$(0\,,\,0)\in S\times T$$
 since $\,0\in S\,$ and $\,0\in T$ also for each $\,x=(a\,,\,b)\in S\times T\,$ we have

(a, b) * (a, b) = (a * a, b * b) = (0, 0)[by 4 of definition 2.1 2] (a, b) * (0, 0) = (a * 0), (b * 0) = (a, b)[by 1 0f Remark 2.13]

and (0, 0) * (a, b) = (0 * a, 0 * b) = (0, 0)[by 4 of definition 2. 12]

and all condition of BCK algebra are satisfied .

Now, to proof that $(x \bullet y) * z = (x * z) \bullet (y * z)$ for all x, y, $z \in S \times T$

Let $x = (a_1, b_1)$, $y = (a_2, b_2)$, $z = (a_3, b_3) \in S \times T$

Where $a_1, a_2, a_3 \in S$ and $b_1, b_2, b_3 \in T$ then

$$(\mathbf{x} \bullet \mathbf{y}) * \mathbf{z} = [(a_1, b_1) \bullet (a_2, b_2)] * (a_3, b_3)$$

= ((a_1 \edots a_2), (b_1 \edots b_2)) * (a_3, b_3)
= ((a_1 \edots a_2) * a_3, (b_1 \edots b_2) * b_3) [since S and, T are SNAK seminear-ring]
= ((a_1*a_3) \edots (a_2*a_3), (b_1*b_3) \edots (b_2*b_3))
= (((a_1*a_3), (b_1*b_3)) \edots ((a_2*a_3), (b_2*b_3)))
= ((a_1, b_1) * (a_3, b_3) \edots (a_2, b_2) * (a_3, b_3)) = (\mathbf{x} * \mathbf{z}) \edots (\mathbf{y} * \mathbf{z})
Now,,it is clear that

 $(0, 0) \bullet (a, b) = (0 \bullet a, 0 \bullet b) = (a, b)$ [by e Definition 3.1] $= (a, b) \bullet (0, 0)$

Then $S \times T$ is a SNAK seminear-ring.

Proposition 3.9

If $(X, \bullet, *, 0)$ be a SNAK seminear-ring there is no $(P \neq \emptyset) \subseteq X$ such that $(P, \bullet, *, 0)$ is a seminear-ring Proof

Suppose that $(P \neq \emptyset) \subseteq X$ is a seminear-ring and

Let $0 \neq x \in P$ Then $(x * x) * x = 0 * x = 0$	[by 4 definition 2.12]
but $x * (x * x) = x * 0 = x$	[by 1 of Remark 2.13]
So $(x * x) * x \neq x * (x * x)$	for each $x \in P$

So (P, *) will not be a semigroup so (P, \bullet , *, 0) not a seminear-ring

Example 3.10:

Let $X = \{0,1,2\}$ with two binary operations '•' and '*' are defined by the following tables :

٠	0	1	2	*	0
0	0	1	2	0	0
1	1	1	2	1	1
2	2	2	2	2	2

1

0

0

1

2

0

0

0

Then by usual calculation we can prove that $(X, \bullet, *, 0)$ is a SNAK seminear-ring.

Let P = { 0, 1 } \subseteq X then P is not a seminear-ring since it is not associative where (1*1) * 1 = 0 \neq 1 * (1 * 1) = 1.

Definition 3.11 :

Let $(X, \bullet, *, 0)$ is a SNAK seminear-ring a non empty subset P of X is said to be a Special Kind of Non Associative Sub Seminear-Ring With BCK Algebra if $(P, \bullet, *, 0)$ is a SNAK seminear-ring we denoted by SNASK seminear-ring.

Example 3.12 :

Let $X = \{0,1,2,3\}$ with two binary operations '•' and '*' are defined by the following tables :

•	0	1	2	3	*	0	1	2	
0	0	1	2	3	0	0	0	0	
1	1	1	1	1	1	1	0	2	
2	2	1	2	1	2	2	0	0	
3	3	1	1	1	3	3	0	2	

Then by usual calculation we can prove that (X , \bullet , *, 0) is a SNAK seminear-ring

Let $P = \{0, 1, 2\} \subseteq X$ then by usual calculation we can prove that P is a SNASK seminear –ring from above tables.

Proposition 3.12

Let $(X_1, \bullet, *, 0)$, $(X_2, \bullet, *, 0)$ be a SNASK seminear-ring of X such that $X_1 \cap X_2 \neq \emptyset$ then The following are SNASK seminear-ring

1) $(X_1 \cap X_2, \bullet, *, 0)$

2) $(X_1 \cup X_2, \bullet, *, 0)$ such that $X_1 \subseteq X_2$ or $X_2 \subseteq X_1$

Proof :

1) a) Let X_1, X_2 be a SNASK seminear-ring Since (X_1, \bullet) , (X_2, \bullet) are semigroup so it is easy to prove that $(X_1 \cap X_2, \bullet)$ is a semigroup

b) To prove that ($X_1 \cap X_2$, *) is a BCK algebra

since $0 \in X_1$ and X_2 so $0 \in X_1 \cap X_2$ [since X_1, X_2 are SNASK seminear-ring]

Let x , y , $z \in X_1 \cap X_2$

 \Rightarrow x , y , z $\in~X_1$ and x , y , z $\in~X_2$ since $~X_1$, $X_2~$ is a BCK algebra

So it is easy to prove that all the conditions of definition BCK satisfies for all x, y, $z\in X_1$, and X_2 then satisfies to $X_1\cap X_2$

 \Rightarrow (X $_1 \cap X_2$, * , 0) is a BCK algebra

c) Let x , y , z $\in X_1 \cap X_2$ then x , y , z $\in X_1$ and x , y , z $\in X_2$ since X_1 , X_2 are SNASK seminear-ring

 $\Rightarrow (x \bullet y) \ast z = (x \ast z) \bullet (y \ast z) \text{ for all } x \text{ , } y \text{ , } z \in X_1 \cap X_2$

d) let $x \in X_1 \cap X_2$ then $x \in X_1$ and $x \in X_2$

so $x \bullet 0 = 0 \bullet x = x$ [since X_1 , X_2 are a SNASK seminear-ring] Then $(X_1 \cap X_2, \bullet, *, 0)$ is a SNASK seminear-ring

2) let X_1 and X_2 be a SNASK seminear-ring such that $X_1 \subseteq X_2$

Since $X_1 \subseteq X_2 \Rightarrow X_1 \cup X_2 = X_2$ and X_2 is a SNASK seminear-ring so ($X_1 \cup X_2$, •, *, 0) is a SNAK seminear-ring .If $X_2 \subseteq X_1 \Rightarrow X_2 \cup X_1 = X_1$ and X_1 is SNASK seminear-ring so

($X_1 \cup X_1$, \bullet , \ast , 0) is a SNASK seminear-ring $% A_1 \cup A_2$.

Proposition 3.13:

Let X be a SNAK seminear-ring and let $a \in X$ then $f_a = \{x \in X : x * a = 0\}$ is a SNASK seminear-ring **Proof** 1) let X be a SNAK seminear-ring. It is clear that $f_a \subseteq X$ and $f_a \neq \emptyset$

since $a \in f_a$ where a * a = 0. To prove that (f_a, \bullet) is a semigroup

a) Let x, $y \in f_a \Rightarrow x * a = 0$ and y * a = 0 $\Rightarrow (x \bullet y) * a = (x * a) \bullet (y * a)$ [since X be a SNAK seminear-ring] $= 0 \bullet 0 = 0$

 $\Rightarrow x \bullet y \in f_a \text{ then } f_a \text{ is closed under (\bullet)}$

b) let x , y , z \in f_a but f_a subset of X so x , y , z \in X and X is a SNAK seminear-ring

so($x \bullet y$) $\bullet z = x \bullet (y \bullet z)$ for all x, y, $z \in X$ so f_a is associative for all x, y, $z \in f_a$ then f_a is semigroup.

2) to prove that f_a is a BCK algebra

Since $0*a=0 \Rightarrow 0 \in f_a$. Now ,
since $\ f_a \subseteq X$ and $\ 0 \in \ f_a$ so it is easy to prove that (
 f_a , * , 0) is a BCK algebra. Now , let x, y, z
 $\in \ f_a$ so x, y, z
 $\in X$

 $\Rightarrow (\mathbf{x} \bullet \mathbf{y}) \ast \mathbf{z} = (\mathbf{x} \ast \mathbf{z}) \bullet (\mathbf{y} \ast \mathbf{z})$ [by c of definition 3.1]

and $x \bullet 0 = 0 \bullet x = x$ for all $x \in f_a$ [by e of definition 3.1]

Then f_a is SNASK seminear-ring

Refrences

[1] Y.Imai and K.Iseki, (1966), "On Axiom Systems of Propositional Calculi XIV", Proc.Japan Acad, 42, 19-22.

[2] K.Iseki, (1966), " An Algebra Related with a Propositional Calculus", Japan Acad., 42.

[3] Petrich , Mario,(1973),"Introduction to Semigroups" Charles E.Merrill Publishing Company A Bell and Howell Company ,USA.

[4] Tero Harju, (1996), "Lecture Notes on Semigroups", University of Turku FIN-20014 Turku, Finland, available at: http://Users.utu.Fi/harju/

[5] W. B. Vasantha Kandasamy, (2002), "Smarandache Near-Rings", American Research Press, RehobothNM,USA.

[6] Sheree L. LeVarge,(2003), "Semigroups of Linear Operators".available at : http://math.arizona.edu/~flaschka/Topmatter/

[7] W. B. Vasantha Kandasamy ,(2003),"Bialgebraic Structures and Smarandache Bialgebraic Structures" American Research Press, RehobothNM,USA.

[8] Celestin Lele Salissou Moutari ,(2007),"On n-Fold Quasi-Associative Ideals in BCI-algebras" SAMSA J.Pure Appl.Math.,2(1),1-12.

[9] Muhammad Zulfiqar, (2009), " A Note on Radicals Of Seminear-Rings " Novisad J. Math. Vol. 39, No. 1, 65-68.

[10] Farhat Nisari,(2009)," On F-Derivations Of BCI-Algebras" Journal of Prime Research in Mathematics Vol. 5, 176-19

[11] Young Bae Jun, Kyoung Ja Lee, Eun Hwan Roh,(2012), "Intersectional Soft BCK/BCI-Ideals", Annals of Fuzzy Mathematics and Informatics Vol.4,No.1, 1-7.

[12] Young Bae Jun, and Kyoung Ja Lee,(2012), "Commutative N-Ideals Based on a Sub-BCK-Algebra of a BCI-Algebra" Applied Mathematical Sciences, Vol. 6, no. 64, 3169 - 3175.

The IISTE is a pioneer in the Open-Access hosting service and academic event management. The aim of the firm is Accelerating Global Knowledge Sharing.

More information about the firm can be found on the homepage: <u>http://www.iiste.org</u>

CALL FOR JOURNAL PAPERS

There are more than 30 peer-reviewed academic journals hosted under the hosting platform.

Prospective authors of journals can find the submission instruction on the following page: <u>http://www.iiste.org/journals/</u> All the journals articles are available online to the readers all over the world without financial, legal, or technical barriers other than those inseparable from gaining access to the internet itself. Paper version of the journals is also available upon request of readers and authors.

MORE RESOURCES

Book publication information: http://www.iiste.org/book/

Academic conference: http://www.iiste.org/conference/upcoming-conferences-call-for-paper/

IISTE Knowledge Sharing Partners

EBSCO, Index Copernicus, Ulrich's Periodicals Directory, JournalTOCS, PKP Open Archives Harvester, Bielefeld Academic Search Engine, Elektronische Zeitschriftenbibliothek EZB, Open J-Gate, OCLC WorldCat, Universe Digtial Library, NewJour, Google Scholar

